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Cool-off time : 15 Minutes
/ General Instructions to candidates ; \
® There is a ‘cool-off time’ of 15 minutes in addition to the Writing time of 2 hrs.

- All questions are compulsory and only internal choice is allowed.

mldcguosanyd :

You are not allowed to write your answers nor to discuss anythmg with others during
the ‘cool-off time’.

Use the ‘cool-off time’ to get familiar with questions- and to plan your answers.

Read questions carefully before answering.

When you select a question, all the sub-questions must be answered from the same
question itself,

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.
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1.  The ternary operator in C++ is operator. : | (1 Score)

C++ et ternary operator BRYHIN).

2.  The feature used in C++ to protect data from outside world is . " (1 Score)

al0oGENGE™; MWlame data-o® Tvorsallemanm C++@ paswoufleaymn feature
. @wen, '

3.  Givenint *p, x = 25; p = & x; The value of *p is (1 Scere)

int *p, x = 25;p = & x; *p @es afles @R )).

4. The name of the logic circuit which converts binary numbers into their equivalent

decimal form is ) (1 Score)
Binary Numbers-em @raiim) dn;eu ymoe decimal number-ceidod asen logic
circuit-0a§ enId AR HYM).

5. According to law,x+x=xandx.x=x | (1 Score)

M2 (AldHd@0 X+ X=X Do X.X =X Do @RYsh)aTm).

6. A candidate key that is chosen as unique identifier for a table is called | _Score)

6] table-oa§ unique identifier @Rw @'kaosnﬁmsgm;an candidate key-o®
agyony ailglesyamn).

7. Define a structure to hold the following data :

MIeYP alow)an data-a@ mUN&ASNINGSIMEs a) structure-om WldQallen)d.

Roll Number, Student Name, Class, Date of Birth (2 Scores)

8.  Write a statement that declares an enumerator data type called fruits with values apple,
orange and grapes. Give these names the integer values 50,40,30. (2 Scores)

Apple, orange, grapes ayyeom? values 88 fruits af)an enumerator data type declare
DalgOm)Be 60) statement of9}@)d. @ values-ai 50, 40, 30 apan oieisud
MG Y.
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9. Consider the following program in C++
aRAIOS 8:%I5)mAlea)M C++ program a16leueow]H9)@:.

class area

{

intf,b;

public: void init()
{I=0;b=0;}
void read()

{

cout<<"enter length and breadth”;
cin>>{>>b;

}
void disp()
(

cout<<"area is”<</*b;

B

void main()

{

area ob;
ob.init();
ob.read();
ob.disp();
}

Rewrite the above program without using init() to initialize the variables { & b. (2 Scores)
Variables l-omw)o b-ewwjo initialize oaigyan@Nad caserdl init() DalcWHNBHH®
i ' program @lo)om]awe)m)o:. '

10.  Consider the following C++ program :
alja1os o:os)emlalenion C++ program ((oaulen) .

void main()
{

int *ptr;

ptr = new int;
cin>>*ptr;
cout<<*ptr;

l

While running the program; the computer got stuck up after some time. Predict the
reason for this kind of situation. _ (2 Scores)

mleaiwl maem @D program computer-@3 execute algnemidoud computer stuck
FRYDIMDIWV] 06NN}, DANNG BHOVMo aHaHAT AltRBAsE)E:.

Ommm%mﬂmﬁ
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11.  Predict the output of the following program :
2QIOS O IS;OMBlAMAD program-ea3 output adNoGlHe)e ?
void main()

{
void fun(int *,int*);
intx =20,y =10,
fun(&x.&y);
cout<<x <<\t <<y,
} _
void fun(int *a, int *b)

{

kg =*g*5;
*b+=5
} (2 Scores)
12. Give four aggregate functions used in SQL. (2 Scores)

SQL-@ gaicmowslenan 4 aggregate functions ag)e)m)@:.

13.  Consider the following program segment :
205 ©505)EMIEBN M program segment mm’lczuaow’lcaogce.

void setvalue (int &);
void main(}
-
int p =25;
“setvalue(p);
cout<<"value=" <<p;
}

void setvalue(int &q)

{

q= 55; . i .
}
(a) Predict the output. (1 Score)
(b} Give the use of ‘&’ in the above code. (1 Score)
(¢) Give an altemmative method for passing arguments to the above function. (1 Score)

(a) Output agmmowilclen)o ?

(b) magleoe code-od ‘&’- smg DGO af)mosNy ?

(c) @oaglosl function-ceided arguments ©05)00)am@l0S casrdlo)es BOHQO®)
@1 agamoens ?

14. The airbus has provided all facilities like food, entertainment and medical aid available
at that time for its passengers. Can you correlate this with any of the QOP’s features you
have learnt ? Justify. - (3 Scores)
afyod euqileel WHDDDOBHS  AR®OW  LaVEBEEd @Yoo, allemoss,
oaleam  qLano®@oe  ans@Elal  meisymailm)es AfBI0  ALVDGHEYERS)0
e@gm’lmﬂggsng mlemud alolafigies ogomeslene OOP-oa} features- 2w Lolem
- TVIBY DS MHICEO ¢ (ruow;.ﬂ.aﬂces)gca;
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I5. Identify the errors in the following program. Correct it and prcciict the output.
MIOY OIS TBIGIGO)N  program-9ei  eDMQBU  GHONROT}d.

OB D
@IRJOD&W)o OULPULt ag)HITIGIBNOAMT B0 D>, '

class student
{
int rollno;
float marks;
void setdata()
{
rollno=100;
marks=450;
}
void disp()
{
cout<<"rollno is"<<rollno;
cout<<”marks is”<<marks;
}
|
void main()}

{ _

: student st;
st.setdata();
st.dispQ);

} (3 Scores)

16. Consider the following code
IO B%I5)0BloaM code alalewIwlen)d:.

class employee

{

int empno;

char name[20];

float basic,da,totalpay;

public: void getdata();
void calc();

void display ();

b

void main() -

{

employee e[10];

}
(a) How many copies of member functions of employee class are created in memory ?

Justify. _ _ (2 Scores)

(b} How many copies of employees are created in memory ? {1 Score)

(a)

(b)
G-3019

Employee class-0a member function-&:81605 g copy-a;gosfﬁ memory-ole3
DB ! alleale:@len)a.

Employees-6ad agi® copy-@:@806my memory-@laé 9enzdeamas ?
5
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17. A program in C++ comtains a function named area() While calllng this function it
calculate the area of a square or area of a rectangle as required.

(a) Name the feature of oop used in the program. ( Score)
(b) Implement this feature in C4++. ' (2 Scores)

8] Co++ program-coﬂ area() o) &) function . ®m  function-om
aflglememioud  @pel  apawiewInmavala) §0) amoomladewo  s1dee
2IONETNINZEQO area hEMBHISNIN). :

(a) @ program-eer OOP-60} feature-00 eald ai0®)d:.

(b) em feature C++ @3 (T)SrrﬂOcBG)ch:.

18. The following diagram shows one type of inheritance :
MY Hos Ealaman figure (woarlen)s.
' ' Class A Class B

Private Private P
Protected Protected 9
Public C Public 3

| ]

Class C
Private  x
Protected b,q,y
Public C, Tz

(a) Name the visibility mode used in deriving the class C. (1 Score)
(b) Write the type of inheritance in the above figure. (1 Score)
{c) Write down the syntax for creating class C. (1 Score)
(@) Class C derive aa1gomyaic@ouila) visibility mode-eaj (snm‘:".

(b) @@ type inheritance oMy agy@m)d.

(¢} Class C create aa1gan@lmes syntax ag9;m)e.

19. Ramu wants to display the decimal numbers 0 to 9 into its corresponding binary

numbers. |
(a) Which logic circuit is used for this purpose ? (1 Score)
(b) Draw the truth table . : (2 Scores)

oomailay 0 oymad 9 WSO B3 decimal numbers-03 @)eiy@o binary numbers
ealsMo.

() agd logic circuit @aic@ousla] @@ ealgoo ?

(b) @olead truth table aloden)s.

' | OR/@nocimlcd
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20.

Draw the logic circuit diagram for the Boolean expression
y=ab'c+ab+cd (3 Scores)

y = a-b'c + a"b + ¢-d agyam Boolean expression-eaj logic circuit diagram arocisa)s.

21.  What are the data models used for the design and implementation of a DBMS ? If you’
are assigned to prepare a database for a department store, which data model you will
select 7 Why ? {3 Scores)
a0} DBMS design  9ad@d implement earxgymailal ageomoesn data models
2alcouileaye ? mlEnog @y department store-m) caienzlayss database Heoenomd
agflailajomd mlsaud ap@l data model select ®aigyo ? agyamO@:06ns ?

22. Explain the different modes for opening files in C++. (3 Scores)
C++ o ailailw file openmg modes-eom S)0la] allvwale:alea)e:.

OR/@negimlod

23. Explain the error handling functions in C++. (5 Scores)
C++ o1 Error handling functions-em @:301a] aosnsoe)d.

24. Suppose you are selected in a team for the development of a Hospital Management
‘System. As the part of system analysis, which tools are used to make the process of
analysis easier ? Explain briefly. " {5 Scores)
630y Hospital Management System 92000088 R0} tcam-9el @RoVAW msaRHs
OMONMNS}OMO@ System  Analysis-0ad 2002000 aRe®I989 tools D lewoUila] .
@D SYSEM-oo AUSHO a)BYajO0i0d Mleeud analysis msamo 2 alwa1e:E1H6)b:.

25. Write SQL statements for the following tasks : _

1. Create a table named Stock with the following fields :
' Item code character 5 |
Item name character 30
quantity numeric 6
unit_price decimal = 7,2
Date of purchase ' _
2. List the details of items according to the ascending order of quantity.
3. Display the details of items with price in the range of 500 to 1000
4. Display stock with total price of each item. _
5. Delete the items whose date of purchase not entered. (5 Scores)
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MIOP OHMHOSEMNBIE)M task-@eBws SQL statements ag)w))d.

ir 1. ooe¢ asosiooildlanan field-2@ palewouila] stock table create aaiga.
Item code - character 5
Item name character 30
quantity numeric 6
unit_price ~ decimal 7.2

Date of purchase

2. Quantity-@es (&aom1@3 items-0aj list en2oon)e.

3. 500 myo, 1000 myo msaiee afllel aleyam items-oaf details @oemion)d.
4.  &0600 liem-omloagw)o total price pas stock display eaigye.

5. Dateof pur-chasc enter falgoow items delete & aiqQ))ds.

26. Explain the various access methods to transmit messages. (5 Scores)
- Message transmit eagomes aflailw access methods-om &)01a] aluws1e:0160)s.

ORfmag‘;a;lmﬁ

27. Explain the following terms :
MIHY OIS )M terms Ailvar Id@lan)dh.

(a) browser

(b) router

(c} Dbridge

(d) gateway _

(e) URL (5 Scores)
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